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L capacity ace
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→ Basically we will establish
relation between Number

,

Matt and volume .



10 in NO . = Ten

12 in NO .
= dozen

100 " " = Hundred

144 " "
= Gross

100000 " = 105 = I Lakh
#

107 is = I Cr.

6. 022×1023 in NPO . = t.mg
I dozen pen = 12 pens

4 dozen pen = 48 ' '

1 mole book = 6.022×1023 books

I mole atom = 6.02291023 atoms

1 mole molecule = i , molecules

I mole Ion = " ions



Mole :- It is basically a number .
F equals to 6.02241027W .

→ Also called Avogadro No .

→ denoted by
'

IHA
'

Ar0gadr0N0.=phHA=6.o22Xl023÷
* → counting unit -
* → mole is SI unit for iftar

amount of substance . Lmk
auu How many atoms are there

in 5 moles of atoms ?

/ mole → 6.022×1023

5 moles → 5×6.022×1023
= 31 .

01×1023
= 37101×1024
run run



orgs:
- How many moles of
Ha molecules are there in

He molecules ?

6. 022×1023- I mole

I- L
6-022×7023

Mole

12.044×1023- I¥×µ¥t¥4¥moles
= &moles Hz
Tholecedes

*

:i:÷:¥";m¥nY
A A



Owes: - No . ofNa atoms in
0.01 mole 1µg atom .

--

moles = Number_(entitI
NA

10-2=0.01 = No . of Ng atoms
-

G. 022×1023

6. 022×1023×10-2NO . of Ng atoms ? g.ozexio
" ME

Aug: - How many moles of Hee
-

atoms in 180066×1024
He atom
-

moles = Niemen
MA

= 318/066×1024/1

=

79%10/2
3×10

'

= 30 moles of He atom



Atom
o

.

- it is smallest particle of
ane

we .no#iDoo888(further)
Fe element

( iron)

A Carbon → 8
12

one atom of carbon (c)→ Eg
tr

.
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( c
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Fluellen
(proton -1 neutron)
(pm)



-
A → may No - (No . of Pth)* X . .

. - .

µ
3→ Atomic No . (No . ofprotons)

element

* A one atom of carbon - Con#
→ 6 protons v

{ → o neurons:{ IFFY
→ 6 electrons
-

Me = 9.1×10-7.8.g

Mp = lo. 67×10-79.g→lgaftommnigtman)
Mn = to 67×10

-

24g
- -

-
- -
--

- - - -

qn = O -

Cfp = -1106×10 -19C
are = - ionone ¥¥¥



Mass of one atom of carbon = a
#

7

example
MAN of @lotion -164)

4- lsigsljiiit} = mass of lots -16M
= mass of HP { p -- n)

I 2124771778.
122 amy
mum

(Atomic mass)

Atomic mass : - mass of one
atom of an
element .

→ expressed in amu .

eg - Atomic mass of carbon = 12amy
' ' ' ' ' ' oxygen = 16amy



Mass of I atom of ⑤I 121am U
T t

(divide 12 both side)

*Iamu=¥{matfo¥,zIato#
mass of I atom of c'2=12 amu

"
" 2 atoms of C

"
= 24dmy

' ' ' i 105 atoms of c'2=12×105amy
" ' ' 66.89222×1023 atoms

of c' 2 = 12×6.022 X 1023ama

molar mass = 1296
.

. 022×1027×1.67×10
'?

- Eg
oriiaii¥i::::::::E



Gram Atomic mass (GAM) : -

Tenotomy atom
is expressed in gram then it is

called Gram Atom Matt .

④
atoms orGAM : - mass of 1 mole

mass of Na atoms
eg - C ' ' ( G Ain) = pzg (O "→ 16g)

NAOKI : - one mole is that quantity
- which contains as many
entities as there are atoms in exactly
12 gm of c'

2 atoms .

Kamu = zfmqssc.o.tt
atom}
-①



mass of Na atoms of 02 = 12 g
. . . . I atom of C

' '
=

tha g

from eq ① and④
= (YET)f-①

i am u=¥¥Ig}
A

*yamu=¥a
*

a *LamuxINa=Lgt



Isamu = Lag
= 1-

6. 022×1023-9
= t6¥22 x 1024 of

*Iamu=1.67x1O-24gJ*
guy:

- calculate Aom . I GAM

aim:':::
GAM = 16g A- $6

3=8



Quest find the man of 5 mole
atoms of N - atom ? (Nj)

mass of ④ atom of N-atom = 14amy
' ' ' ' NA atoms = 14x Na am4
' ' ' ' I mole atoms = 14g
" " 5 mole atoms = 14×5 = 70gN-GAm=kgJl

Aug:
- find the moles of o - atom
in 64 gm of o- atoms ?④ mass of 1 mole of o -atom -- tag
[ g o -atoms = ÷ mole
64g " = tag moles

64 of O - atoms I 4 moles of o- atoms



*Ioa7a;mm±"totgnIT*
.

0M¥
- find the No . of moles?

① in 28 .g of N
- atom
(NI"

moles = 2,84ft = 2 moles of
N - atom

④ 32 g of S -atom (si:)
moles = I moles of s- atom

④ 14 g of H- atom Lai)
moles = ¥ = 14 moles of

H -atom



A Granato : - (mole)
£ gram Atom = GAM

1gamatom=Imo
mass of

Audi - I g atom of carbon =

= [ mole of carbonatom

= GAM

= ng
aus : - mass of 8 g atom of

H -atom .

mass = 8g
dues : - How many gram atom

present in 36 g of C - atom .

12g- Hh g atom 136g - 3g atom



ques : - How many atoms ate there-

in
, 40g of Na

- atoms ?

moles = wth (Na,?)
GAM

= 4681
-

23 (8)

= 2 moles of Na-atom

1 mole of Na-atom = Na atoms

2 ' '
" " "

= 2xNa atoms

mole =
Number

= 2×6.022×10239tony
- 24
NA = 1.2044×10

2 = Number Na -atoms

⇒
Num be of Na - atoms = 2nA



Out How many gram atom present
in 3.011×1022 atoms of
H- atom . also calculate

mass of H-atom .

Number

gram Atom = moles =
-

NA

=

#4
-6.022×1023/1
2

= 12×10
=L
20

= 005 gram
atom(moles

moles = Wttg)
GAM

0.05 = wet ⇒ wt= 0.05g



- - made up of same type
of atoms as well

as monoatomic substance
.

eg - Na . He
,

C
, 5g ,

diamond

for
←TE

atom Fe

Moleaile : - molecule is formed when
more than one atoms

are chemically combined either same
or different and exist in discrete
form .


